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Nov 13­12:58 PM

January 20th, 2015 Life Science (Day #96)

1. C8S4 Quiz

2. Structure of a Flower (code: cep­1053)
­ Plant Fertilization Steps using the Flower

3.  Assignment
­ C8 Study Guide/Quiz Parts of a Flower

Dec 7­2:29 PM

Untitled

Grade:«grade»
 Subject:«subject»

Date:«date»

Dec 7­2:26 PM

1 A ______________ is a 
seed plant that produces 
'naked' seeds.

A gymnosperm

B angiosperm

C monocot

D dicot

Dec 7­2:30 PM

2 A _______________ is a 
seed plants which 
produces flowers has 
seeds protected by a fruit.

A gymnosperms

B angiosperms

C monocots

D dicots

Dec 7­2:34 PM

3 A flower is the 
reproductive structure of 
an angiosperm.

True  

False  

Dec 7­2:36 PM

4 Which number has 
multiples of 10, 15, 35, 
1000?
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Dec 7­2:37 PM

5 What is the name of the 
plant which produces 
seeds with TWO seed 
leaves?

A gymnosperms

B angiosperms

C monocots

D dicots

Dec 7­2:29 PM

6 The transfer of pollen from 
the male reproductive 
structure to the female 
reproductive structure is 
called _______________.

A germination

B pollination

C transpiration

D photosynthesis

Dec 12­10:42 AM

Plant Fertilization Steps of a Flower
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